
Name:      Student number: 

Introduction to English for Scientific Communication: Quiz 2 

Tuesday 20th May 

Part 1: Fill in the blank spaces with the words from the list (making sure to write them in the 

correct tense). 

conserve     preserve     retain      maintain 

1. Entropy is approximately                             along streamlines in compressible, low-Mach-

number flows. 

2. The question as to why symmetry is                                     has not been answered. 

3. This new model                               several features of the more complex model presented 

in our previous paper. 

4. It costs a huge amount of money to                             the Large Hadron Collider. 

Part 2: The underlined word/phrase is incorrect. Please rewrite the sentence changing it 

from the passive form in which it is presented to an active sentence to highlight the mistake, 

then rewrite the original sentence to make it correct. 

5. In the early 1960s, similar effects were discovered by experiments on gel systems. 

Active Sentence: 

 

Revised Sentence: 

 

6. In this paper, the instability is studied by the energy method. 

Active Sentence: 

 

Revised Sentence: 

 

7. This theorem can be proved by the argument given in Sec. 2. 

Active Sentence: 

 

Revised Sentence: 

 


